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1.

1

riate option.

Out of the following which one is
the wrong statement in context of
characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

‘Guidance.
(3) Guidance is  helping the
individual ~ himself through

others efforts only.

(4) Guidance {s  assisting an
individual to find his place.

A type of thinking in which one's

interpret sensation with experience 1s

—_— N - - - - :

known as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which onc of

the statement is wrong 1n context of

characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage_of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do. not  have intellectual
cmﬂ'}rchcnsion.
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4.

Which is the oldest method for the
study of behaviour ?

(1) Experimental method

(2) Clinical method

(3) Psycho-physical method

(4) Introspcction_ method

Out of the following which one s
Wrong characteristic of Delinquents ?

(1) Damaging schoo] property

(2) Bullying and mockery

(3) Torturing

4) Aesth’anic in constitution

Which one of the following is the
correct logical order of observationa]

learning process according Learning
Theory of Bandura 2

(1) Atténtional —> Retentiona] - —
Motivational — Production

(2) Attentiong] —> Motivationg
Retentional — Production

(3) Motivationa] — Attentiong] -
Retentional - Production

[ »

Who stated that "Persona‘lity is the

SUM - total of innate and  acquireg
dispositions"

(1) Mortin Prince
(3) Valentine

(2) Allport
(4) Catte]]
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[A]
Which one of the following is false
statement in context of Development ?
(1) Development involves change.

(2) The
unpredictable.

development pattern is

(3) Early developmem is more

critical than later development.

(4) Development is the product of

maturation and learning.
Girls surpass boys physically in :
(1) Infancy
(2) Later childhood

(3) Early childhood
(4) Adolescence

Out of the following which onc is

the subject matter for study of
Gestalt Psychologist ?

(1) Cognitive processes

(2) Consciousness

(3) Mental and behavioural

processes a wholes
(4) Modes
existence

and  problems  of

What did Freud consider the paternal
love of girls ?

(1) Oedipus complex

(2) Electra complex

(3) Narcissism

(4) Feeling of dependence
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Sometimes  (he children op iff
parents are born with less mtdliglc .
than their parents o vice irn
which Law ofHeredxty IS called 9 h

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paterng
Lines

(4) Law of Chance

Which of the following is the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

(4) Propagates his  views  with

insistence and vehemence

Out of the following which is correct

sequence given by James lLange's

"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state  —»
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Sitation - Mental state —>

Bodily disturbance
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[A]
Out of the following which one is
not the characteristic of insight ?
(1) Incidental

(2) Response in novel situation

(3) Habit strength
(4) Response spontaneity

Out of the following which one

is not the stage of creativity
prescribed by Gordon in  his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar
3) Deferment

(4) Concept formation

Out of the following which one
characteristic nor suits to gifted

(1) Learn rapidly and easily.

(2) Perform difficult mental task.
(3) Knows about many things of

which most of the students are
unaware. '

(4) Much drill is required to retain
what he/she has heard or reaqd.

What is the age ran

ge of puberty
stage ? P 3

(1) 10 to 12 years

- (2) 6 to 12 years

(3) 11 to 16 years
(4) 8 to 10 years
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0. PR A 3 d Q?ﬂr %ﬁ&’ % - Soitﬂcq)i ttl;/;etof perfirmanf;: IOCZ: i.\,
R S et intelligence ? !
M@rﬂﬁ TR qieqoy (1) Army alpha test
(2) #IE 7 w1 T qdteror (2) Koh's block design test
(3) W Teftor/cem yerey (3) The cube construction test
A T T ey | (4) The pass along test

20. S s 3 SR T fog STy 20. According to Jean Pliaget betwec;?

K T T R e g7 which age the child develom

abstract reasoning ?

\}(f6ﬁ83ﬂ§ (1)6t08years
m% 10 o (2) 8to 10 years
3) 78 9o (3) 7t0 9 years

4) 118 1499 . | ) 1110 14 years

2. & fHER @1 or iy ‘& T T 2l. Who stated that "Ajp individual is

intelligent in Proportion as he is able

ﬂ'ﬁ T fowm FHAT e B 7 to carry on abstract thinking" 9
S T (1) Terman

(2) feavar (2) Dearborn

(3) b (3) Buckingham

(4) Frafes

4) Calvin

g 9w 22. What is the process of releasing the
AR F ey e 2 wfea i hidden motional suffocation and
T Fe ¥ 7 Powers inside the children caljeq o

(1) @iafr fRemar (1) Emotiong] stability

S| GIEICa Hagsfierar < _ (2) Emotiong] sensitivity
) qidfe fem - : (3) Emotiona| catharsis
(4) Wl wes

(4) Emotiona] Competency
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23. Out of the following which on¢

activity is not suitable for satisfying
the instincts curiosity g

(1) Awarding positions in the class

or school ”

2) Answering the questions of the

students
(3) Problem solving

(4) Discussion in class

How many “cards prescribed in

Rorschach Ink Block Test ?

(1) 12 (2) 10
(3) 30 4) 31.
25. Who is known as father of

Educational Psychology 7
(1) E. L. Thorndike

(2) Pestalozii

(3) Herbart

(4) Froebel

26. Who invented sociomeltric technique ?
o —

(1) 1. E. Anderson
@) J. L. Moreno
(3) E. B. Hurlock

4) G.S. Marmor
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27. URege 3 IR AR F 27. Which is the fourth stage of psycho.
ey 1 <efy e Eﬁ‘f—'\cﬁ% ? social development of an individuyg)
_ according to Erikson ?
(1) Tear 919 oyemmrg (1) Intimacy v/s isolation
27 TEd T iR Hwify (2) Identity v/s role confusion
(3) trﬁ‘%m ERGIICE r e (3) Industry v/s inferiority
(4) ST 9 R (4) Generativity v/s stagnation
28. T 3 IO B @ PH-§ 28. According to 'Ross', which stage of
RIS I E IR STaeeT ey development is known as 'Pseudo
ST ® 7 . Maturity' stage ?
(1) Srsrargeen (1) Infancy
ST (2) Childhood
(3) fepsmrraeen (3) Adolescence
(4) Sherawn (4) Adulthood
29. 99 FE TR ot EE R e | 29. Wfl_en a person tried to make his/her
B o i@ IR H SBSEESEIEI thoughts and action according to
I8 T AW 2 O 98 g B other whom he like to follow, then
AT B, T 2 TEX A B D this kind of activity called which
MRIY 3l TR iR Feand B 7 type of defence mechanism ?
) TTRTCHIReT (1) Identification
(2) W& (2) Projection
(3) ofiferd wa T (3) Rationalisation
(4) fereerTas (4) Displacement
30. fefofeg & & @E-a SISSIEES ) 30. Which one of the following is nor
AH HEoT ﬁf"rﬂ# g7 the common speech disorder of
, childhood ?
/(/I(W P FH (1) Depletion of Energy
(2) g (2) Lisping
(3) ST JTERI (3) Slurring
(4) BHAT (4) Stuttering

Level-2/211
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IS (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option to fill in
the blank :

This pen is both good
(1) as well as

(2) as well

(3) but only

J4&) and

41. Select the appropriate preposition to

fill in the blank :
His hut is ......... hotel Taj.
(1) above

(2) out .
_K37Y besides b e
10
W beside

48. Choose the correct meaning of the
"underlined words :

The law and order situation will only

become worse in the state due to the

riots, if the government does not do

S~

something right now to nip it in the

bud.
(1) To plan in detail to stop a threat

. (2) To destroy the problem in the
initial stage only

(3) To arrest the culprits

J45 To stop something harmful in
the initial stage

Level-2/211

49.

Select the correct option (Phrasal
Verb) for the underlined word :
e

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out

7 turned off

Select the appropriate modal to fill
in the blank : ‘

- Trespassers ........... be punished.

i (16@3@03)
(1)-shall

(2) may
3) sﬁoul_d M’)/oughi to

Choose the appfoj;;i;&ié preposition
‘to fill in the blank :

What is the time

........... your
watch ?

(1) in (2) from

(3) by &) on

Select the correct option (Phrasal

Verb) for the blank left in the
sentence .

Chicleraias wwn s in this village.
(1) broken out
—£2) broken down
(3) broken up
(4) broken off

[A] .
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53. Choose the part of the sentence
which is incorrect : .

The party president made -

(a)
Rakesh a M. P. candidate
(b) (c)
for the coming election.
(d)
(1) a (2) b

B3 c 4) d

54. Choose the part of the sentence
which is incorrect : ‘
keep his words —

He did not
(a) (b)
to pick himup  from WTP.
() (@
“r'b 2) ¢
(3) d 4) a

55. Choose the correct tense form to fill
in the following :
[ had consulted my lawyer before I
......... the complaint.

(1) did lodged (2) had lodged &

(3) lodge A7 lodged
56. Choose the appropriate modal to fill

in the blank :

| & (- listen to the stories of

his Grand Ma before he slept.

(Past habit)
/6 could (2) shall : e
(3) would (4) might (3) ought o

51. Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to ecach

other.

(1) To make people relax with each
other :
[o make people perplexed with
each other

(3) To serve welcome drink to the
guests X

(4) To start a game of puzzle %

58. Choose the correct tense form to fill

in the blank :

Municipality hizs decided 0! sussmwmnmss
the overhead wires.

47 did away with
(2) do away with
(3) has done away with
(4) had done away with

59. Choose the correct option- for the

following :
One who wastes a lot of money is :
(1) frugal (2) recluse

(4) reticent

((’jﬁ prodigal
60. Select the appropriate modal for the
expression given :

Harish has annoyed his boss today:
He ........ be fired soon. (probability)

/(I)/;nay 6 can

(4) would

wvel-2/211
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H - III (PART - III)
HH AT (GENERAL STUDIES)
AT AT, iches SR qoT A i O WS (QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS)
s =T g9 & Gav 39 % fow geg afg A gl

pirection : Answer the following questions by selecting the most appropriate option.

{af

6l. TF TN & TE 66 HX &, & W |

61.

The length of a wire is 66 metre,
T § S ST ‘355‘3'1 aw 1.32 T then the number of circles of
R & gt 1 der ® circumference 1.32 cm that can be

made from the wire is
(1) 1000 A= %l (1) 1000 .
4% ‘ 66

2) 50, . | V)
(2) LN T (2) 50 i fﬂ/l}_, ‘
(3) 500 e e 2 (3) 500 A gt

- o \
@)/5000 (\’\/\W\/’, R (4) 5000 1

\

62. 140 HIX T WEmEl A 62. A train 140 metre long is running at
60 fFft /qoer B, T8 260 drex 60 km/hour. How much time will it
Qe H TN FA ﬁ [ESRLRIE take to pass a platform 260 metre
RIS | v long ?

(1) 18 ¥Fwe S (1) 18 sec
2724 TFTS 2 e (2) 24 sec
A%
(3) 30 HHTS __,W_jl (3) 30 sec
: 5°
(4) 32 SRR (4) 32 sec

63. UHh hUsl faehar 33 HieT SUel ECETS 63. A cloth merchant on selling 33 metre
11 drex %= & EEIR & TR of cloth obtains a profit equal to the
U m{‘@{(-ﬂ T, O SHE selling price of 11 metre of cloth.
gfed B ;o The profit percentage is :

[
(1) 11% e (15 11%
(2) 22% (2) 22%
AT) 0% (3) 50%
(4) 40% (4) 40%
P.T.O.
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[A] @ [16] ’
Laﬁ4ggqm6q%a—r§qq;mqﬁ7 64. If 4 men or 6 women can do a piecg
ot ufafed & 33 12 Al # &Y of work in 12 days working 7 hougg
qed §, @ 34 w1 A EVSIIGEL cap} a day. How many days will it take g
10 g5 1 3 HfRey 8 goe Hfdied complete a work twice as large wity
w1 FH fpaw ot PRUIETS a7 10 men and 3 women Wworking
' together 8 hours a day ?
(1) 6 w7 (1) 6 (2) 7
3) 8 4) 9 (3) 8 GO
] 1 ‘
65. I x=— T @ xX+2x+3 65. If x= . then the value of
e~z ¥ ’ xr,; L8 .
P AN § ﬁ/{,;“ﬁ x4+ 2x+3 s \J= -V
(1) 0 @) 1 - Mo 2) 1 z2+1-2F+
374 @2 /vr,\ ;)4 (4) 2 2(%-V+*
1 'b‘ *ﬁ:ﬂ ' g,zﬁ"w‘-?/l'b/_}-
66. T~ 378 Al 1 ST I€ SR ¢ ) - f«.f‘ T86. The next term of the following letier
' ' ‘ ' > e series will be :
\ : PR g <
CAE, HFJ, MKO, RPT, ... = %5 [ CAE, HFJ, MKO, RPT, ....
(1) UTY 25 WUY (1) UTY 2) WUY
(3) VUZ (4) WUZ | (3) VUZ (4) WUZ
67. U Feaat A, B, C, D @ E ﬁ, A, 67. Among five persons A, B:’C, D and
B ¥ B¢ dfFd E § @& 5, C 9 E, A is shorter than B but taller than
&= 2, D, B & BleT & dfed A @ E. C is the tallest. D is shorter than B
T B, A g § BN §ad Bl & but taller than A. Who among them
: S ' )
c Q?D A é; is shortest *
(1) B 2) A (1) B (2) A
3) D AT'E 3) D 4) E
68. T Hﬂi@ﬂﬁ T gAY _I_QQ__W 2 68. The perimeter of a . rhombus i
AR TG wH e 40 TR, v 100 cm and one of its diagonal is 40
IR BTH € cm. Then its area is :
(1) 300 &’ (1) 300 cm’
600 A’ (2) 600 cm?
(3) 780 W’ (3) 780 cm’
(4) 900 JH°, (4) 900 cm’
Level-2/211 @)O =Y »
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g;f#aig'm% @'aﬁ ¥ w&ﬁ
Ferg 7 e
B T gEl H STAd 2 S % Exl aﬁi
gt @ %ﬁa 13 P o,
i g Mg ¥ dR e RN @
IR 3: 8 B W ?
|13
EIE il &
(2) 4:9 S o A
G) 4:7 KIS
3.3
4)3:8 5V L ]
A T F “9e dH JU AT @ i
& ﬁﬁ‘% T OBE WE ST S el
B T A.%{ﬁﬁﬂBﬂﬂ{?Fahﬁf% ?
(1) == A
27 P ")
(3) ST
(4) T W
e 9oft § g dE 3T IR
2o =
24¥ 135, 226, 353, 552 739 .
S/\)/
(1) 353 e
(2) 226 S
Orks2 %
(4) 739
% 5.000 TT 12% diities &l B & 4§
) ot & GETEr oS @ wdE @
7 Y BrT
@ 27 (2) T 84
(3) 96 (4) 336
S-P,o‘ﬁ‘»-‘_
‘gﬂooo*\\ﬁ

Two alloys are both made up of
copper and tin. The ratio of copper

and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tin be 3 : 8 7

LI 5% B
2)4:9
(3) 4:7
(4) 3:8

A said "that boy is the grandson of

~my mother's husband. I have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(2) Son

(3) Nephew
(4) Cousin

Find the wrong number

following series : |
135, 226, 353, 552. 739

(I 985

(2) 226

@) 552

in the

- (4) 739

The difference -between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on < 5,000 for two
years will be :

(1) T 72 (2) 3 84

(3) T 96 (4) T 36
? ,11’ P.T. O.
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13. o TEe oy Jn7 52() g gl o 9 73. The sum of two numbers is 520. If
EK%PI & w49, F F far §m the bigger number is decreased by
AR B @y 12% g1 feor e, a 4% and the smaller number is
I G ey E‘ﬁ‘ﬁ, U = A increased by 12%, then the obtained
Bl Ter ¥ numbers are equal, then smaller
: number is :
(1) 210 @5 240 (1) 210 (2) 240
(3) 270 * (4) 300 % (3) 270 (4) 300
4. frfy @El % “ET ‘{Wﬁ' EEEEIG 14. Find the wrong term of the following
el _d,kl\/s\i\ series : '
@G T. J9R, MO0OP, PAIN, S90L " G4T, J9R, M20P, P41N, S90L
wez 2| G¥rcl -zo'fze y i
(1) J9R ) M2op GO wrys (1) J9R (2) M20P
W37 P4IN (4) S90L (3) P4IN (4) S90L

75. UF 919 FPETI'S( a?{l'if g TS 25. The ‘sum 'of length, breadth and
FOAT 19 FW R, gwr @ 5@ - depth of a cuboid is 19 cm and its
[l &1 717 545 @Fﬁ g, principal diagonal is 5+/5 cm, then
‘3_‘%3'5[ LTI g its surface area is :

(1) 361 &> XxbAh= = (15 361 cin’

(2) 286 > - : () 286 em?
S\ RN\

3T 236 Tt YELREAR (3) 236 cm?

(4) 340 %H° - » (4) 340 e’

76. I TFH FARFRG 8 fRAT afenor # STTehY 76. If a person walks 8§ km towards
I T ggat 8 BRI %, g South then turns right and walks
Gie ceIEy geh? 10 it Teer §, 8 km, again turns left and walks
98 JEOAM fag o frg faar & g7 10 km. In which direction is he from

starting point ?
(1) ge-aférer (1) East-South A
\
(2) -3 * (2) North-East l’
b
(3) STX-cfgror (3) North-South .
| 5
AT afT-afey (4) South-West ’
. 71
Level-2/211 ¢
. s¥s
R N\ ’ (9
Jat vy
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(2) 108t ,ﬁﬂgm
(3) 124t
(4) 134t

8 @aﬁﬁﬁqﬁaﬂ-{zm
ﬁﬂ%ﬁf@«wﬁaﬂﬁw
T R qE R ¥ e
Bl ool ¥, 99% O 98 Iuv Ry
C 4 T = ¥

(3) 43
1
80. IT Sg+—=>5
3a
q4 B .
51
() ) p——
(1) =
52
/ @) 2
gy, /(’75 5
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[19]
11.
18.
19.
80.
{q - ./L‘
»
Sa+

[A]

In a row of boys, A is 15th from the
left and B is fourth from the right.
There are three boys between A and
B, C is first left of A. What is the
position of C from the right 9

(1) 9th
(2) 10th
(3) 12th
(4) 13th

A person walks 2 km towards last
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) 5 km
(2) 6 km
(3) 3 km
(4) 4 km

If W = 23, STRONG = 93. then
WEAK is equal to :

(1) 40 (2) 41
(3) 43 (4) 44
. 1 .
If Sa+—=5, then the value of
3a
3 |
9a” + 18 &
5510 o
Sk 29
(1) — ) =
b 5
oz 39
3) — 4) —
O @
P.T.O
= B
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82.

83.
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Tl [qarE s aemr 3 aed @

(1) 11,000 59
2T 21,000 553
(3) 31,000 35
(4) 51,000 593

1857 %t i % o orelen G
SEEIOM |

(1) SE5ETE &
(2) BoETR @
B TR F

(4) TG §

wad, 2021 & oA 368 TS
qaT weafeer gl & sl
T A e @t e oy ?

(1) 13

&) 18
49 21

@) 24

84. F=ffeiia & @ # farm & waive

ey & e I w ¥ 7
WY o wHo geed
(2) To o fheas
(3) STy verfear
(4) F e e

Level-2/211
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81.

The amount which 1s given to the
sports woman on the occasion of

marriage  under  'Mukhyamantr;

~ Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

1857 Revolution

The hero of

o Abdurrahman Khan was related to @

(1) Bahadurgarh
(2) Farrukhnagar
(3) Jhajjar

(4) Yamunanagar

How many gold medals were won by
Haryana state in the '36th National
Junior - Athletics Championship!,

which was held in February, 20217

(1) 13

(2) 18

3) 21

(4) 24

Who among the following was the
longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A. R. Kidwai

(‘3) Jagannath Pahadia

(4) Kaptan Singh Solanki
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() JeaE e & -
SN Fee % @9 H
(i) ‘Bfetr s & aE ¥

e (R
(1) Fad F9 (D) & ?
(2) daA HEA (i) FE T
(3) 7 & (1) IR 7 & (ii) ¥ ®
7 3 B R
go, ‘T T eferw e {
e B 7 »
) e
(2) ot ¥
(3) & A
(4) TG H

g7, TR WA B B P A R 7

(1) o
(2) el
3) fear
AT Frari

g8, afgoy @ wAT URTE A
B o ®

o

()
@) 12
(4) 06

(1) 10

v<§§114

Level-2/211

[21]

85.

[A]
Read the following statements about
Haryana Sahitya Academy :

(i) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct

(2) Only statement (ii) is correct.

(3) Neither (i) nor (ii) is correct

(4) Both the statcments are correct

86. Where the "Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

In which district the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal

(2) Panchkula

(3) Hisar

(4) Bhiwani

The minimum number of members

in the Council of Minister of
Haryana can be : -

(1) 10 @) 12
(3) 14 (4) 06
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89. Frefafed & & #-w1/A9-8 gW
@& B2 7

(i) TF 9 — FHar R}
(i) G a9 g AFIRTT — A
(iii) FTEY T g STRIG — Fooi]

Tel FE F; T FN
(1) &= (i)
(2) (i) R (i) «
\BT (i) 9 (i)
(4) e (iii) «
| (A) SRS H1 T 7S (i) AR
f (B) ameATens (ii) eI
(. GBI
(C) R =g (iii) FYTFTT
(D) Gres & fear  (iv) qHgd
A B) (©) (@D
(1) G @) @Gv) @
( N C G NG

3) (v) () (D) (1)

89.

Which of the following pair/pairs

is/are true ?

(i) State Animal — Black buck

(ii) Saraswati Wild Life Sanctuary —

Kaithal

(iii) Nahar Wild Life Sanctuary —
Jhajjar

Choose the correct code :

(1) Only (i)

(2) (i) and (i11)

(3) (i) and (i1)

(4) Only (iii)

90. Match the following :

Name Place

(A) Birbal's Rang (i) Narnaul
Mahal

m(B) Spiritual Museum (i) Gurugram

(C) Chor Gumbad (iii) Yamunanagar
(D) Sohna Fort (iv) Panipat
Code : |
A) B) (€ D)
() ) (i) @Gv) 1)
(2) () @Gv) (@ (D)
@) Gv) () G ()
4) (i) @) H @)

@) @O W)

* ' Level-2/211
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